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Corrigé du Contrôle 1

1. (a) On calcule

x′(t) = −3 cos2 t sin t, y′(t) = 3 sin t2t cos t,

(x′(t))2 + (y′(t))2 = 9(cos2 t + sin2 t) cos2 t sin2 t = 9 cos2 t sin2 t.

Pour t ∈ [0, π/2] on a cos t sin t ≥ 0 donc

‖~v(t)‖ =
√

(x′(t))2 + (y′(t))2 = 3 cos t sin t.

l(γ) =
∫ π/2

0
3 cos t sin tdt =

[3
2

sin2 t
]π/2

0 =
3
2

.

(b) : On obtient :

Circ(~F, γ) =
∫ π/2

0 x2(t)x′(t) + y(t)y′(t)dt

=
∫ π/2

0 −3 cos8 t sin t + 3 sin5 t cos tdt

=
[ 1

3 cos9 t + 1
2 sin6 t

]π/2
0 = 1

2 −
1
3 = 1

6 .

2. On intègre d’abord en y :∫ x

x−1
(x + y)dy = x(x− (x− 1)) +

1
2
(x2 − (x− 1)2) = 2x− 1

2
.

Puis on intègre en x entre 0 et 1 : ∫ 1

0
2x− 1

2
dx =

1
2

.


